6533 Improper Integrals
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3. Explain why the following integral is improper. If it converges, then evaluate it. If it
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4. If the following improper integral converges then evaluate 1t. If it diverges, then explain
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6534 Error Bounds

L If[f"(z)| <3 for 1 < z < 5, find the smallest value of 7 such that E7 the error when

5
approximating / f(z)dz using the trapezoid rule satisfies |Er| <1074,
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2. Suppose we know that |f”(z)| < (1/2). Consider the integral / f(z)dz. Find the
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smallest value of the integer n such that
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3. Let f(z) = (1/12)z* — 2° + 8z + 4. Find a bound for the error Er for the trapezoid
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6535 Harder Integrals

1. Find the following antiderivative: Hint: start with “let 42 =”. Assume z >0.
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2. Find the antiderivative / tan?(5z) sec(5z)dx

f (Aec;a(sx) —-\3 [_M(sx) Aec (sx)] dx

_ deci(s®) Adec(99 | ¢
= Y

U= doc(sX) Gives = g(u ~Ndw
3. Suppose f(z) is such that |f"(z)| < 6 for 1 < z < 6. Find the bound for the error Ep

for the integral / f(z) using n = 50. Recall |Ep| < M.
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6536 Integrals Using Trigonometric Identities

1. Recall the identity tan?z + 1 = sec? . Find the antiderivative

/ tan z dz.
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2. Find the antiderivative
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3. Explain why each of the following integrals is improper.
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